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// function example
#include <iostream>
using namespace std;

int addition (int a,
{

int r;

r=atb;

return (r) ;

int main ()
{
int z=;
z = addition (5, 3):;
cout << "The result
return 0;

int b)
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The result

is

<< Z;




PS8 o Sigsa =—

AQ¢,0 ol main @G sk e

0 030 (S D g aslepaio )y W oo Hsios gy ©
33500 Jlwyl @0 @

A )sbs g osi auwlas @G )s YB3 3)g6 )IsBs ©
33)5¢,0 )0

wizs @0 5030380 ) 5 b g a slapasis °
o

int addition (int a, int b)

P 1

z = addition ( 5 , 3 )




function call

(int cube{int x) ) numbher <A gquit>:4
' // returns cube of x: cubhe(d4» =
- "“:'; T ] numher <8 gquit?»: 6
recurn X"xXwx; cubhe¢g> =
\} y numbher <8 gquit>:9

' tests the cube (] function: numbher (A guit>»:@
_' T T T oo cube<B> =
int n=1;
while (n '= 0)

cout<<"Enter a number (0 for guit):";

cin >> n;

cout << "h“tocube (" << n << ") = " << |cube (n) | << endl:;

¥
¥

madn () guba {)
B
a|l B = x| 5
ok ot




// function example
#include <iostream>
using namespace std;

int subtraction (int a, int b)
{
int r;
r=a-b;
return (r);
}
int main ()
{
int x=5, y=3, z;
z = subtraction (7,2);
cout << "The first result is
cout << "The second result is
cout << "The third result 1is
z= 4 + subtraction (x,Vy):;
cout << "The fourth result is

return 0;

" << z << '"\n';
" << subtraction (7,2) << '\n':
" << subtraction (x,y) << '\n';

" << oz <<

!'\n!;

The
The
The
The

first result is 5
second result 1s 5
third result 1s 2
fourth result 1s 6




vold deeper|()

o0 .J L] J L]
cout << "I am now inside the function deeper.‘\n"; 9)}39) CS) 93' }9

-

}
vold deep()

cout << "I am now inside the function deep.\n";
deeper{)s // Call function deeper
cout << "Now I am back in deep.'n":
} I am starting in function main.
I am now inside the function deep.
int main() I am now inside the function deeper.

Mow I am back in deep.

e L ac k. in function main again.
4 L L Ll A1l kA Bl L] i 251 . 31l —

deep()s // Call function deep

cout << "Back in function main again.\n";

return 0;

void deeper() { <€
cout<< “l am now inside the function deeper.\n”;

}
3 void deep() {

cout<< “lam now inside the function deep.\n”;
deeper();
cout<<“Now | am back in deep.\n” <

}

int main() {
cout<<"| am starting in function main.\n”;
deep();
cout<<“Back in function main again.\n"; Y
return O;

}
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int max(int x,int vy)
[ // returns larger of the two given integers:
if (= < y) return vy

else return Xx: adls (sly cuvlbreak siite @0 ¢slpreturn

' _ oL @G jlawpreturn a gloj jo iy
int main() cwl @G HOU )5 @8lgs pdw )5 as 15 .3¢0
{f // tests the max({) function: & = F . .. o

nt mon AW silgTg o Wi )5 (sl)o )5 Lol

o

cout<<"Enter 2 number (0 for guit):":;

cin >> m >> n;

cout << "\tmax(" << m << "," €< n << ") = " << max(m,n) << endl;
¥
while (m '= 0);

numbher (B for guit>:6 7
max{h,?>» = 7
number B for guit>:-89 4

max{8?.4> = §9
numbher (B for guit>:H 4
maxtH,.4>» = 4
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Function prototypes are also known as function declarations.

(function definition) b @G (s Osls Hyd —
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#$¥include <iostream> ‘ IS
n=ing namespace =td;

int =ub {(int a,int b)
{

int =;

z=a-b;

return z; .

int main ()

{
int x=10, vw=3:
cout << X<<"-"Joy<o"="womnb (X, vi<< endl;
return 0;

H

[
#include <iostream>

nsing namespace =std:

int sub (int ,inED

imt mainm [)

{
int x=10, v=3;
cout =< X"y "="IaOsub (X, Vi< endl;
return O
¥
inmt =ub [(int a,int k)
i
int =;
z=a—-kb;

returm =:
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$include <iostream>
using namespace std;

I am passing 5 to displaylUalue.
The value is 5

vold displayValue (int) ;
int main/()

cout << "I am passing 5 to displavValue.'\n";
displayvValue (5) ; &
cout << "Now I am back in main.\n":;

return 0;

}

vold displayValue (Int num) ¢

cout << "The walue iz " << num << endl:;
¥
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.J;}.Scyoj)ﬁip J)num
displayValue(5) ; // function call
b &’B
void displayValue(int num) // function header |[?
{ I
cout < "The value is " << num << endl; s

}
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Finclude <ilo=tream>
using namespace std;
int power (int ,int ):
] int main()
int a,ps
count<<"enter two number:";
cin>> a >> p»

cout <<"a"p=" «<<power(a,p)<<endl;

- H
] int power (int k,int 1)

int 1,n=1;
for{i=l;i<=1;1i++)
n=n¥%*k;
return n;
- ¥

enter two number:
oy
a“p=32
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long fact(int n)

{ // returns n! = n*(n-1)*(n-2)*...%*(2) (1)
if (n < 0) return 0;

int £ = 1;

while (n > 1) Hi1i1l2de6 24

f Y= p—3

int main()
{ // tests the factorial() function:
for (int i=-1; i < 6; i++)
cout << " " K« fact(i):;
cout << endl;
}
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I
P(n k) = —— long fact(int m)
(n—k)! { /f returns n! = n¥[n-1)"(n=-2)*...%(2) (1)
i1f (n <« 0} rectorn 07
51 51 120 ot £ = 1;
P(5,2) = —/m— === —=20 whila > 1
( ) (5-2)! 3! 6 f{:. ,_1_.
retorn L
| long perm(int n,int k) ¥

{ // returns P(n,k),
if (n < 0 || k< 0 |]
return fact(n)/fact (n-k):

the number of pernutations of k from n:
k > n) return 0;

int main ()

28 68 128 178 A
3a 128 368 728 724 A
42 218 848 2528 5848 5848 B

A A
A14
A11
A12
A13
A14
A15
A16
a1Y

{ /Ff tests the permi) fonction:
for (int 1 = -17 1 < 8; 1++)
{
for (imt j—1; j < 1+1; J44+)

cout €€ " " ¢ permil,i)>

coot << endl;




Passing Data by Value
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Original Argument
(in its memory location)

-

Function Parameter
(in its memory location)
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volid funcl (double, int); // Function prototype C lU.D ——
int main({)

int x = 0;
double v = 1.5;

cout << X << " " << v << endl;
funcl (v, =)

cout << X << " " << vy << endl;
return 0;

}

vold funcl (double a, int b)

cout << a << " " s B << endl;

a = 0.0;
b = 10:;
cout << a << " " < b << endl:;

}
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result = gquare (number):;
L 2

int square (int number)
{

400 —,

return number * number:

if (square(number) > 100) -8
cout < "big square\n"; : &'B
qgé

sum = 1000 + square(number):
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// Function prototype
bool isEven(int);

int main(} Enter an integer and I will tell you if it is even or odd:
) 67 1= odd.

int wal;

cout << "Enter an

cout <« "if it iz even or odd: "

cin »» wval;
if (isEwveni(wval))

cout << wal << " is even.\n":
else
cont << wal << " iz odd.\n";
return O; bool isEven(int number)
3 .
if (mumber % 2}
return false; S/ The number is odd if there's a remainder.
L
elze= 2
return true; // Otherwis=se, the number i=s even.

}
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vold displayHMenu()

cout << "1.
cout << "2,
cout << "3,

Child Membershipin"™:

wvolid displayMenul() :
int getChoice():
vold computeFees (char, double,

CHILD RATE = Z0O.00;
flint maini) 1

cdo§
dizplavMenul) ;

if [(choice !'= 4]

cin »»> months:

switch (choice)

caze 1: cowputeFees('L',
hreak:

case Z2: computeFees('C',
hrealk:

'

I

} while (choice '= 4):
return 0O;

| choice = getChoice(): // Lssign choice
A to it by the getChoice function.

int) :

cout << "4, Quit the Frogram\n\n";

cout << "‘“n\tHealth Club Membership Menu'n'n";
Standard Adult Membershipin"™:

Senior Citizen Membershipi\n™:

int choice, /¢ Holds the user's menu choi while
wonths: S/ Nuber of wonths being paid

H

H

i1 Choi
const double ADULT RATE = 40.00, SENIOR Ra] . - S5FCReies()

int choice;

cin »>» choice;

(choice < 1 || cholce > 4)
{ cout << "The only

valid choices are 1-4.

cin >» choice;

return choice;

Flease re-enter.

.
r

cout << "For how many months? ™)

LDULT RALTE, month

CHILD EATE, month

case 3: computeFees('3', JENIOR _RATE, months);

wvold cowputeFees (char memberType, double rate, int months) {

cout << endl
<< "Menbership Type oo mwemberType << endl
<< "Monthly rate §" << rate << endl
<< "MNumber of months: " << months << endl
<< "Total charges : §"<< (rate * montha)
<< endl << endl:;

Health Club Membership Menu

. Child Memhership

4. Quit the Program

For how many months? 2

emherzship Type = A
onthly rate 248
umher of months: 2

otal charges : $8A

oabeso ) Hlito Cg)b,x,wb Al gio j] c 1wl colGii) w)l5 aSesnlSis

- Standard Adult Memberzhip

- Senior Citizen Memberszhip
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